—v’f—f

Rl e v i xvza @ 1284 3 gFGH 7
78910 ¥ w9 & R s 3, @ @ K T
AXGE %! & feran smom 2 |
1 4217

@) 4197

3) 4179

(4) 4917
(5) IR TE T <TEd

m@gmﬁnmmﬁl"ﬁm‘%mﬁ
mm%lwﬁ@wﬁwmﬂﬁmm
R e ? |
(1) CWPJV

@2 CWEJV

(3 CWFKV

4) CWFIU

(5) I TE & =R

ﬁ,mmm%aﬁmwﬁm-”’mm

T Weg I T HIAC : ' .
VERIFIED

(1) FRIEND

(2) DEFER

(3) DRIVE

(4) FRIED
(5) I Ekll =ed

mmm,maﬂtmwmﬁﬁnh

_ﬁﬁaﬁmzﬁmimmaﬁnﬁm
gﬁmﬂmammaﬁmw%m,

: .
o & 360 % fact ¥ T T4, & iy

-Amita. paid % as much

In a certain code language XYZA is written as
1234 and EFGH as 78910. How is AXGE written

in that cod
1y 4217
(@) 4197
@ 47

4) 4917
@ Notsttem?e

¢ language 7

code language DFGHJ is written ag

In a certain P
AUDIT written in that code

FHIJL. How 18

‘languagé ?
1) CwPJV

(2) CWEJV
3) CWFKV
(5) Not attempted

Find out ﬁhe word which cannot be formed by
using the letters of the given word :
VERIFIED
(1) FRIEND
(2) DEFER
(3) DRIVE
(4) FRIED -
(5) Not attempted |

Three friends Amita, Babita and Chanchal went
to a restaurant. When the bill was received,

Babita paid % as much as Chanchal paid If the

ofer o1 g PR € 2 bill pai ' :
foraft | ill paid is ¥ 360, then what is the 2moun paid
(1) - ¢60 by Babita ?
2) %180 il
3 100 - (2) 7180
4) T200 ey
00
ared
e 7 &l 4) - T 200

) |
%3 - '
ARAIDZIPage 2 fﬁd%m% (5) Not attempgeq

I
SPACE FOR RougH WOR
| _ , K

e
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b.

T el A 7 TR qU 77 kg
BB o v & v et R
%ﬁmﬁmgl

YT ; gmaam.g'

T SR

IO ITgER F[E |

D F3 %A sAeEgEn € |
I FoagHFAE |
(WD o 3 3R |
(1) = 1 3R 111 frevea §

(2) Fa= 13k 11 freen €

@) e 0 P 2

(4) e I Freveran 3

(5) I T T =

P,Q,R, S, T fosfs e | ‘P Q=1 13 , g Qg

PHR @ a2 | ST FERAN P wE 2 |
TS T 2 |

PHFRAFIGEU R ?

o' ¥y what
W 5. .
Xar,. § Ry Xo II; ¥
P a H =2 P ‘ F = 2
o g .
- 1 -
@ @ *
@) < (3) *
4 X
@) x (5) Not attempted
6) Ix T ¥ = 2
tatements are fO"OWed b |
th ) a; 6' Three '5 th y three
g | firg "G:;R T e Re e € 1w, 3 conclusions. Take the statementg ¢ p, o o even

if they seem to be at variance from ¢he commonly
known facts. Decide which of g, given
conclusions logically follow(s) from the given
statements.

Some apples are grapes.

All grapes are bananas.

Some plums are grapes.

Statements :

Conclusions : (I) Some bananas are plums.
(Im
: (ITT)  All bananas are grapes.
(1) Only I and III follow
(2) OnlyI and II follow
(3) Only II follows
(4) Only III follows

(5) Not attempted

Some apples are bananas.

P, Q R, S, T went on a picnic. ‘P’ is the son of ‘Q’.
But ‘Q’ is not the father of ‘P’. ‘R’ is the son of ‘S,
who is the brother of P’. “T” is the wife of ‘S’.

How is ‘P’ related to ‘R’ ?

o (1) Father
el - (@)  Nephew
(2 (3)  Brother
(3) wiE (4)  Uncle
@) am:ra N (6) Not attempteq
- RA(IE;)ZI:; - T T % foTy ¥ / SPACE FOR ROUGH WORK
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N

8. |I E and F are sitting in a
AB,¢ als. ABGCD L HH0g in a cirg, g,
¥ 3-7@;’ D, E aix F g i ¥4 # A ihe centre: ‘D is ?n the. immediate ﬁghtt:;ng
o BV, 1y ‘B?;"a“‘ a3 o el and ‘B’ i not the immediate neighboyy of p ¥
% B’, b F ’ « ‘A 31“ D is betweeﬂ 'A’ and ‘D’. Who are the nelghbour;c
3y 2 it et of
D ca T o s €7 ik 4D
@) By D (1) CandD
(MAWE (mizw
@) A " (3)
&) B (4) AandB
. I T 3 = (5) Not attempted
. ﬁé m
ey 'Gt;:l ﬁ'%?ﬁ i3] gen & T Hifg 9. Choose the missing number from the given
55 56’!@31 0 @ w5 options that will complete the number series :
(1) 72' i 58’ Blv 65 55, 56, 58, 619 65, p—
(2) 70 (1 72
3) 69 @ 170
4 7 (3 69
(6) Im I = SIS 4 7N
- ) (5) Not attempted
¢ Iilillﬂpmmmm: :
. 11 ey 10. Find the value of p in the series :
,3,5,!”5,?43 11.1_ i 1
Y '3 9P 81" 283
i 0 = '
@ X s
27 @ =
3) % ?
3 —=
@ = e
29 @ —
(5) I T 1 9w i
; (5) Not attempted
11. 39% g1 FrEegd T R T wiem & 3 ands o .
Fearh, it s =l 0 oft R, 3 QA Ren | oy 11. All the hard work done by you at your workplace
1w ? is hijacked by one of your colleagues, who is a
1) W 6w T S | good friend of yours. You will :
& % a5 3 | (1) start praising about your work yourself.
: (2) leave the job.
(@)( ¥ wenfat & A IWR S H | (8) criticise him in front of other colleagues
{ g mﬁ':f; 1"(5'?1, i qfem & ‘TRUHW (4) continue hard work as hard wotiual;vays
hnd pays.
e A 21 =TEd (5) Not attempted
MARA/D2/Page 4 T wTd & foTY ¥T | SPACE FOR ROUGH WORK
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. 14.

15.

1)

(2) 3, 4, 5, 6, 2, l

@ 6,43, 2.5
4) 3, 4, 6, 2, 1,5

(5) I T8 I wmy

R R R s
11:120::25:2

624

¢

125

224

I TE 2N T

1)
2
3)
4)
(%)

W ¥ fwer = v @fe el v s wew @
s 48 o 8 T Ry
TS : MAHIA

R -

% - e

it - T

Herer - R W@

I A A

(1)
@
3)
4)
%)

MARA/D2/Page 5

13-

14

15

.

® x
wtﬁthmw\h\i

MWM

pination of numbers o that the
accordingly will form 4

125
pall
() Not attempted

Choose the correct option in which the wonds are
related in the same way &s in the given pair of
words :

Singer : Charus

Rabbers - Lot

‘3\ n\‘\xm s B\\\N et

W)

Musicians - g
W

Artist Paint

C
oudilieu wiutil Same



e

' l.
e mm@;@ﬁwmﬁ%m%<
16, fuy m awwt ¥ fr ey § #0F 00 oifu |
- SEE MR 2. i R !
@) Freeeh ¥ om w7 ‘ @). o -
@ MWHF@mA@mggmt! @ .ma,mmf%,aga“mmmﬁl
@ fehigmiwmdditl 3 (6) e 78 &
(5 i
: m?ﬂiﬂm 20. ﬁqﬁ{ﬁgaﬁﬁm-mmmmﬁﬁﬁat?
| (1) =
17. | s ipm%ﬂmm%%‘l (2) vl
FaA | g e T g | b, (3) <
, ? | @) frard v~
R _(5) I &N AR
(2) "mH -
3) syﬁm | ' |21, ﬁqnqﬁmwﬁawﬁmmgzmz?
(4) IFad : (1) SR '
' 2 s
et & ® wE
(4) T 1
(6) I T M ==
18, P 3 & - 4 1 0 v 4 o
i s i , : |22, :‘;ﬁﬁﬂam,mﬁmaﬁ'
- . | & R, s qam 2 7
@ d=fy I FTRIY forg s i3 27
@ wEh . | 1) wifemr
- ' @ Wiy
4) wgfe &M ‘ ®
(5) Jew TE ¥ =Ed e @)
(5) mmh
P T o 3 Rl
MARAD2/Page 6 \ R um s space FW' "
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23 WW%M ﬁ@ﬁﬁﬁmm%ﬂwmm‘
D) gy %mm%: o, ﬁﬁw (,
(2) W"“E’aﬂw,/ v " e
3) @%mwmm 9 ﬁﬁr‘“
@) @ﬁ"%*%aﬁmt ) :::
®) I 3y |
ey 4
®) W“ﬂmm |
24, mﬁqﬁawmmmm| '28 ﬁama‘fﬁﬁﬁmwmﬁmmé?
D W ’-ﬁwﬁmﬁm'ﬂﬂummﬁﬁ

. S % Rt S e 4 ¢
O . -
@) W& _

) :ﬂa‘aw\/
@) s

(5) I & Z =g

26. ‘TR mEE 9g % € — ‘qedt F e |

I BHTE  FeqE WHTE F A T R
(1) sfu qeges
(2) W@ g
(3) WRIEH AT
. (4)  A9IgA qegH

(5) - e ¢ &1 =Ed

MARA/D2/Page 7

Ecl) |
q <m @ F H T < gfy
(2.)-mnqmmwfhamg

® m_'«‘ﬁ‘ﬁ‘m = TR-FH faefy # vay

@) m:ﬂmﬁam = fraw

(5)'_mqﬁi=na13% Y

W T T St 3 o Y e v
Wﬁéﬂ#ﬁwmé?

1 e

L W

: 80,

. .
mmtmm:W
R

I

@) s -

(5) mmhm
%Hmmﬁmmmzwm
TR

S

(2) w

(3) Wiy

4)
( e

*U%H wor

oudilieu witl i udlll
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; o) he alternative which best expresses the
o v e p ‘ of the underlined idiom.
Biven .. ¢ al Olive which best expre==® mear:(;“ hair-breadth escape from the accideny,
I Ces whi oy
tig be;,," " Actiy,, Voice. He i p"dm'
(1) We h ad s, ) = .
(2) we Ave Y’Phd it (2) very
>y (3) narrow
@) dip, .
~ e iy (4) fighting
o y e (5) Not attempted
® N read jy
) i 35. Find out the correctly spelt word.
¥ (1) pretantiosness
Read - her there % (2) pretantionsness
= gr&mmlti ®® 10 find out whet

Mistake in it.
our
of the part with error A% ¥'

pretentionsneas
prettentiousnesa

(3)
(4)

Answe tempt
r.If %0 arver’ stk (0 (5) Not attempted
i 36. 'Find out the correctly spelt word,
B (1) thesoraus
over the resyl¢ N ’
W' (2) thasaurus
1) ¢ . (3) thisaurus
2) A (4) thesaurus
@ B (5) Not attempted
(4) NO €error
(5) Not attempteg 37.  Select the word that is most similar in meaning
to the given word.~
Rearrange the following parts of a sentence Prosaic
labelled a5 PQRS t make a meaningful (1) Patriotic -
Sentence (2)  Uninspiring P .
P.  leave no regret are (3) Poetic
Q. gained over ignorance (;5( (4) Cunning ,
R. the only victories which (6) Not attempted
8. those which are 38, Life history of a man written by himself is called
(1) QRSP :
1) Bibliograph
(2) SRQP (1) Bibliography
(2) Biography
(3) RPSQ (3) Autobiography
(4) PQSR (4)  Calligraphy
(5) Not étwmpwd, (5)  Not attempted
ID2/Page 8 1% &1 & fery ¥aT 1 SPACE FOR ROUGH WORK

] C
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stc
a 8!
nd 4, ¢ carefully and answep

web. In 1 the €Y wi
9 wilq);
Populati, 73, the auth, . l.d life species in the faung)
iy n dwin Tties realised that the ¢;
8€er po ulatj, Very fast. The major th "
trade, s + By iy

. e
s hnn.king habit,atnumemus such as poaching fo,
» depletion of prey base species

two-thirds of the surviving tiger
rld, these two nations became
11hing and illegal trading. “Project
-publicised wildlife campaigns j
the‘ world, was launched in 1973. In Ind;,lg;:g:
conservation has been viewed not only as an effort to
save the endangered species but also as a means of
preserving biotype of sizeable magnitude.

prime targets for poac
Tiger”, one of the we

39. The skin and bones of tiger are also used
in preparation of food products
as raw material in small factories
in traditional medicines
" to save tiger from extinction
Not attempted

(6))
(2)
3)
4)
(5)

40. The major threat to tiger populationsis -

(1) Industrialization

(2) Lack of Tiger Reserves
(3) No Government policy
(4) Poaching for trade

(5) Not attempted

Find out a word from the above passage which is

the antonym of ‘legal”

(1) threat

(2) extinction

3) faunal

(4) illegal

(5) Notattempted
MARA/D2/Page 9

41.

42.

43.

45,

/W
pted
<@ wrd 2 forg W/ SPACE Fog gy wo

: R

e
the P*
nde
ase Y -
o ’ gmmmatlca y licies which
= yrage 11 advocating PO
g ili n.”
i Showemmon acceptability the
o . :(:only acceptable then
o Comm nly accepted the'n
5 con:l commO acceptability
7 th:l onin acceptability than
4) ©0
Not attempted

i :tion to fill in
Choose the most approprlate preposmon

the blank.

Visitors in the garden 2
walking on the grass.

(1 t

(2) from

(3) with

(4) for

(5) Not attempted

re prohibited ————

Fill in the blank with the most appropriate
option given below.
He was advised
preparation.

(1) to not to attend
(2) not to attend
(3) tonot attend
(4)  not to attended
(6) Not attempted

the seminar without

:’Vhich one is the correct indirect narration of the
ollowing sentence ?
gt; saxl';l. "I\;.vo and three is five.” -
i H: :afd that two and three were five,
& B afd that two and three are five.
8aid that two and three is five.

4)  He g
(5) Ne Said that two and three was five.

K

Scannea with Lams



- s the gtate animal of Haryana ?

p 46, Which
. ’f""""‘“'mwmmn (1) Horse
D ury ‘ glephant
2 B
(2) wf (3) plack Buck
% fem — a Tiger
(5) 3Im
T 31 wred 47, When was the State Council of Education,
47. wfEmn § ey M srgeiv v i qftea # Regearch and Training established in Haryang 9
I W wd o (1) 1966
(1) 1965 @2 1979
(2) 1979 « (3 1970
3) 1970 (4) 1960
4) 1960 (5) Not attempted
(5) I T 2 WA

48. Which fort is known as the Gateway of Haryana 7
48. o fad 9 wfaron & yer gu ¥ AW ATy Maham Fort

[ , (2) Gohana Fort

(1) = # fen " (3) Bahadurgarh Fort

(2) e & faen ' (4) Kanod Fort

3) wergeTg w e~ ‘ (5) Not attempted

(4) AR & fEen ' :

(5) I TE A AT 49, Haryana is located around 300 miles North of the |
49, i@ & @mm 300 e I A e R | (1) Equator ‘

(1) e ) (2) Tropic of Cancer

(2) @ @~ - (3) Tropic of Capricorn

(3) W @ -2l (4) Greenwich line

(4) Hfaa @ ' . (6) Not attempted

(5) I ¢ &A1 A€

‘ : ue ia al in' which

0. v oA Rty | e

(1) whgrEn (1) Faridabad

(2) UEdw (2) Rohtak

(3) uHiva Ve (8) Panipat

(4) TFET (4) Yamunanagar

(5) I Al & 9Ed i (5) Not attempted

—

MARA/D2/Page 10 T T % forg tum | spAcE FOR ROUGH WORK
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e ey S .
Q@ mgi" TESt ety * -
(2 . % Q \Eﬁ]’m’“ﬁw 4 the 0@ of v~
) ey ? T g5y, W Oh ¢ gt
( - g 51. 3 Ch;e
3) iR TEy Y firf s p
@) e fr 191 | giné" ot
(5) g A Y gif thotu "
W T 3 @ , 8inf
AL @ 2 58 . gh
52. wREmn Gopﬂl inf
Ty ¥ 4) " pwd
() T fiw ® Not 8
' 15 HIRE I first Haryana State Finance
( , 199 TS FE g o
2) 2%, 1t " b 52 L { ﬂned ?
(3 ) 1994 o B comml Slon 0
) 31 "T§, 1994 ) th october, 1994
4 and
)
ST o e @ g1t Mays 1994
T mn ;ﬁ 3 ﬁézlsl R = ¥ fea fem & Not attempte A
X9 tw = iy FA ‘ﬁﬁm al5% N Gandhi W25 * ested on which date from
(1) 10314, 19 : palwal railway gtation while going to Punjab t0
(2 10 3@-.5’ '18 : protest against the Rowlatt Act?
3) 10 3@3’ =2 1) 10 April 1918
) 10 Apri
@ 1034, 1919 2 pril, 1915
(5) I TE M e @ 10% April, 1917
54. ¥ i ' : i 1‘:’“‘ April, 1919 )
(6)) g::\:j' ; %1 I ™ 29 (5) Not attempted -
' ' 54. What i
(2) Hiyead at . 1s the ancient ‘
) nam . i 4
(3) UEEE Mahendragarh in Haryan " e of district
(1 S A .
(@) W g i Kaatyevpuram |
(5) IRTE pisthal
’ o' e
. 55- Wﬂ; ﬁ W KanOud
S E 2 efaon % fea ford # 7@ T (5) Not attempted
frcan 65. Th .
1) : £ :IshlValik Hills are
@ . VI .of Haryraa? not found in which di
(3) e g) Sirsa | ch district
@) TEET (3: Panchkula
(5) e & Ambala
(4) Yamunan
* (6) Not agar
attempted

T
< / ,sPACE FOR ROUG
; R
K
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- BT,

. oaaer o W hauhan jn gy, 1S wag
 fay - é;!‘fkﬁ < ] Pnth\nral Chau a"“‘ which Century 9 ‘ﬂxh
Pt 'qaﬁg:m (1) 17 century
1) 17§ wé
e (2 12“’ century
@) 12 w&
(3) 15" century
@) 154 g8 th
t
@) 148 _” (4) 147 century
® T - (5) Not attempted
. 57. The credit for propagating th
! 1 9 T 8 : e H
A B T ayidvew % TR Movement in Haryana goes o, ' R
(1) 3 W fig i (1) Thakur Ram Singh
(2) <ren ' (2) Lala Murlidhar
(3) 9. Jhrm (3) Pt. Nekiram Sharma
(4) W fre (4) Ram Kishore
(5) I T & 9" (5) Not attempted
58. Fraffaa # & fRd giamn 1 a9 Tget gl Il & ? 58. Which of the following is known as the Taj Mahal
(1) ieq g 1 qhatl of Haryana ?
2) o wea (1) Ibrahim Suri’s Tomb
(3) & wES / (2) Sheesh Mahal
@ @ ﬁ‘z«ﬁ 1 AT (3) Jal Mahal
(6). 3 8 < < (4) Sheikh Chilli’s Tomb
@ A I%ﬁ ﬁﬁmmiﬂmm Wi’m (6) Not attempted .
5—-—\_\“ L) .
7 e ST 59. Which among the following folk dance forms is
(1) ::f‘j? not performed by men? '
(2) (1) Chaupaiyan -
3) =% (2) Loor
(4) THE (3) Daph
(5) I A A e (4) Damru
T ' : (5) Not attempted |
60. mmﬂmwglwu%ﬁ%ﬁﬁﬁﬂﬁm _ mp g of B0
nfa # gaAT A ? ‘ |60. Pt. Lakhmi Chand was born 18 W
) @@ following village of Haryana ?
(@) T (1) Sihi
@ ™ @  Mokiry
(4) e 847 et
5 A Ted (4) Jantikalan
% () Not atte
MARA/D2/Page 12 W*ﬁrq% , (©) Yot attempted B e
SPACE FOR ROUGH WORK '
)
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61. Bhamy 3 g
) %
(2) ﬂiﬁiﬁ
(3) o
(4) %
®) ¢ T -

62. 31 faw, 2017 3
RIEE)

Nk s
w%‘@m% amaﬁ"ﬁBBY

. e anmz?q, |
@) Fororeh h ?ﬁm/
4) wEw T

6) IR T 1wy

@ T ¥ fhg 9 Yy W o
PRA R ? S~—
() 201
@ 2011
(@) 2013
@ 2014,
®) I T ==

64. TN F vt s Rt € g 2020 — 21 T

TR SR Y 2
(1) 1540-453f
(2) 100037FR

(3) 1805-453f
(4) 1200-453f2
(5) I T 2 =S

65. ERam T Tz % faefa A 2022 - 23 # T A
mﬁamyﬁmgﬁvﬁiﬁm%%mﬁmﬁaﬁm

TR ?

M 2194 \'Dy\
@ 46% X 9
3) (33%

4 62%.

(5) - 3w 7 &1 =red

—

P 3
m%atm“ﬁ“%?

16
T

=9

Z
-

=
1 (DBT) I a1

65,

MARA/DZ/Page 13

61.

62.

63. -

¥
is“ict
?

d
rﬂte
nol

gic?

cf

er®”

( ; ohtﬂ '

2
uld

:i; - pted

o Yojana .
rpayee Yojana

(5) Not attempted

was the 'Direct_ Benefit Transfer

; 1 ear
In which ¥ ched in Haryana ?

(DBT) Scheme 1847

S 2015

@ 2011
3) 2013
(4) 2014

' (5) Not attempted

What is the increased per capita consumption of

' electricity in the year 2020 — 21 in Haryana ?

(1) 1540-45 units

(2 1000 units

'(3) 180545 units

4) 120045 units _

) Not attempted ' o

What is the percentage of total expenditure
1) 21q |
(8)

T & forg v 5 W//

GH work

oudliliieu widl udl

Haryana has the highest‘
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67.

69.

70.

- pos. L I W q
[Ee o Al o fd (1) Social Work
1) a5 (2) Literature
(2) =i (3) Sports
“{\t}a  (4) Science
@ famm (5) Not attempted
= S 7@ #@ — |67. Shori Bazar in Rohtak ls H
Ugah F 9 wrom g " market. yangy 'a'h
TR e (1) Wood
s (@ Cloth
o i (3) Grain
il (4) Auto Spare Parts |
(0 M3 B T (5) Not attempted
(5) W TE ¥ =R & . a
1958 & g TS WA 3 ﬁ"*jﬂﬁ . 68. Who is the first wrestler to win 5 gy Vedl
Fedftar P £ Commonwealth Games in 19587
(1) ofen T8 "TEH (1) Lila Ram Sangwan
@ weAfiEe” (2) Sajjan Singh
(3) UEEEH 3T (3) Pahalwan Udaychad |
(4) wR = T (4) Master ChandgiRm -
(5) I &1 e (5) Not attempted
::nf "m e = “’_‘:'*_,_,Eﬂw’ﬂ’ b 69. Which breed of buffalo isalled the Black Goldof
a) v Haryana’?
(2) weadl (1) Murrah
(3) Afaafa (2) Bhadwari
(4) FEEH (3) Niti-Ravi
() I A T I (4) Mehsana
frafafiga § @ ef@on & %q (5) Not attempted
wﬁuﬁﬁiﬁaﬁzmmhwwﬁiﬂ@ | ke mm“s‘&om
I ? T fyy|70.  Which of the following P” . o ¥
(1) Tgaz da Y - Haryana received the Padmd
(2) dfia sifaa ¥ field of Science and Engmeenng
(3) 3w yepry it (1) Raghuvendra Tanwar
(4) Wit A 7S e (2) Sumit Antil
(5) IR AE A =T (3) Om Prakash Gandd
MARA/D2/Page 14 M (4) Moti Lal May
‘ %M% (5) Not attempted _
| 'SPacE F a Eess

OR ROUGH WORK
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71 3R b+be+cas
a, b M adl a =0 i
| , ¢ F1 3ed ba M. 1f the average of & b, ¢is M and ab 4 , ,
¢ 0f82’ b2, c2 is ca=|()

a2 h2 .2
' y C .
( S then the averag
uo @ M
v @ M
(4 2
o (4) oM’
i mq@i‘ﬂmﬁ (5) Notattempwd
72. IR J2 J2-1 then J2-1,
‘ 2 =14142%, @ /_——J;‘l T R v, 1f V2=1414% T3 1 % eaualto
: +
(1) 0-3652 (1) 03652
(2 0-732 @) 0732
3) 13142 9 13142
0-4142
4) 04142 “)
. (5) Not attempwd/
(5) I T I W

73. The dimensions of a rectangular floor of a room

73. Th AMASRK FR
‘% oo famd, 4 . T|H W when increased by 4 metres become in the ratio

4:3% UM A . 1% o
i % 4:3andwhendecreasedby4metresbecomein
o 2:1. What are the dimensions of the

Ao E | TR F o A R E 2 ~ ,
’ the rati
M 18 x 2470, Ny floor of the room ?
() -127%. x 8. A © (1) 18mx24m HIE
vald | T

(3) 167 x127%. . : (@ 12mx8m

4) 187 x 227 : 3 16mx12m

(5) I AH &1 9w v A ) (4) 18mx22m

(5) Not attempted

wsoﬁaﬁmﬁqxaﬁtwmmhaal
74, The ratio of milk to water in 80 litres of a

74.
zq fagw # foran ol (ferex ) eren wmg forgd fazror
ﬁqyaﬁzmﬂm S 2 : 18 M ? mixture is 7 : 3. The water (in litres) to be added
o to it to make the ratio of milk to water 2: 11is
, (1 8 ‘
2 4 @ 4
3 5 @) b
(4) 6 4) 6
(5) IR T & =Ted (5) Not attempted
MARA/D2/Page 15 % T % fory Tt | SPACE FOR ROUGH WORK
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77.

I
m@’mﬁ
TR W g qet § gL S0 T 13{41@%,
4 9
“'mm.ﬁzﬁmmﬁﬁ&""
R
(D) = 4,006
2) = 3,096
®) = 4,076
(4) ?4,085
®) I e L A
e P AT

I R | A ) riem @ i @m
30 Pz i e |Aﬂffﬂf’“wﬂq{@
R

1 ..
1 2=
2*1’2

(2)

3) 11l
2

(4) 2w
(5) IR TEl 1 =TEd

. . o
@mﬁgaﬁ@gmﬁm,(aﬂﬂm
éﬂﬁgﬁ%mmﬁﬁéﬂwﬁnﬁ%lﬁgﬁﬂ

191

75.

76.

71.

(5

The princiP?! that amounts ¢, o
)913 .
in

ompg, a)
n
compounded annually jg . q i )

1 = 4,096
2 T 3,096
(3) ¥ 4,076
(4) T 4,085
(5) Not attempted

In covering a certain distane, th i
and B are in the ratio 3 : 4 A’ ® 8o,
more than B to reach the desﬁnaes 30 .

taken by A to reach the destinatio:-on' X
18:

at 6—}% Per annum

of

S

I

1)

2 }- hours
2

(2) 1hour

3)

1 l hours
2

2 hours
Not attempted

4

The length of one side of 3 right-angled triang]
is twice the length of the other side ang
length of hypotenuse is 10 em. The area of
triangle is :

TP 2 : (1) 50 cm?
50 a1 @t
(1) (2) 20cm?
(2) 20 & 1
33- cm?
@) 33% i S B
@) 40 3 &t (4) 40 cm?
(5) I A€ &1 =TEd . (5) Not attempted t
. .1, interest at 3
78. @m@mmmﬁﬂqaﬁ% 78. A sum was invested at simple 1 ested 8t
fraw fe mn ) AR T gy 5 w0 certain rate for 3 years. Had it bee? m‘:he same
1% wifus TURY &9 § § | ﬁ;&u ﬁ;:q s s 1% higher rate of simple inww1f)°0t more.
77 vAUf T 5,100 AUF 3y 5 g %m, o time, it would. have fedd © .
(1) ¥ 1,70,000 ¥ sum is :
(2) ¥ 1,20,000 ' (1) ¥ 1,70,000
@) % 1,25,000 o
’ 2) ¥
4) ¥ 1,50,000 E 3; LAl 00
il i s ) 5 T 1,25,000
_ T
MARA/D2/Page 16 g A
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Moftwop /?‘) 18 ¢

By
@ ; 2 79, 1C e 0 8y
The v
@) <9 w ?
@ - 1 (2 s
@ 1 @ !
(5) :
SR 7 31 = @ o attem?”
& N
; . : ence tolling together and toll at
80. ©: Ufdl ws o o § o § o 80, Six pells © ;“2 6, 8, 10 and 12 seconds
4m’ 6 ’ ﬁmg, intervﬂls 0 minutes, how many times do
8 Ywvg I
’ , 10 ¥HUE TUT 12 AFvE § pspectively” =" | together ?
I |/ Tt § | 30 iz & 2 ©: ufegt T Wy these gix b 11s tol
foraht O = ' '
ﬁfﬁ ? (1) 16
1 16 @ 4
(2) 4 @ 10
3 10 @4 15
(4) 15 5) Not attempted
(5) IR TEl 1 =TRd .
i ‘1 _ . the val f ——
| gL If m - 0-2689, then the value o 30003718
gl. a1 _ _o a1 - wuw is’
3718 02689 %, 00003718 t -
(1) 0-2689 M) 02
2) 2689 (2) 2689
(3) 2689 (3) 2689
(4) 26890 (4) 26890
(6) IR AL T AR (5) Not attempted
82. ?ﬁj m =2-4 d9 n= —22’& az : 82-‘ Ifam =-4 and n=-2, then the value of
m3 - 3m2 + 3m + 3n + 302 + n3 & 7 g m°-3m? + 3m + 3n 4 3n2 +nd is:
(1) -128 (1) -128
2 -
& ki e
-124 ‘
3 -1
4) -126 ) 5 )
(5) e TE 3 =TEd - 126
: 6) N
MARA/D2/Page 17 Wﬁﬁ%%qm/sp;\mtmemd
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iper contains 40 litres of milk 4 ]
- From
thig |

4 litres of milk was
taken ou

83.
@mﬁ'mm@%lwﬂ 4%?‘%‘_‘1.83. A conta

=
mm4ﬁammﬁmm|ﬁmﬂm container
Q w3 o | o W # fran U @ T ? replaced by 4 libres of water. This process
: 4 further two times. How i
Q) : repeate . much mjlk :
1) 2916 for : Loft in the COMYHEF 1 Tk
Q) 2634fx ' : ) 29-16 litres
3 27-36 e 2 26-34 litres
@) 28 @ 271361
AR S U 4t - 4) 28litres
T ' ' (6) Not attempted

avested ¥ 80,000, T 40000. d
’ an

< » 4 . '
80,000,? 0,000 84. A, B an 1
ctively in a business. A left afte

T

84, A BTN C3 ts MR # FA:

T '
,,g so,oo;ﬁamﬁmmm%mAﬁ‘W' 2 80,000 respe
S T
) ¢ 94 ’GTW T 40,050 &3, @ e # gix months. If total profit after eight months i
1w fa 2?7 o : 7 40,050, then what is the share of B in t}lxs
) e

@ 8000 (1) 79,000

(3) 8,900 (@) ¥ 8,000

(4) ¥ 5,000 3) <8900

IR Sl A, (4) ¥ 5,000

'(5) Not attempted

85. A, B @ 30% fuF T4 R |ir=ﬁ@mm$ta
. T FHR B ' : . Ai '
i U FA § e wY 0, Jafs A 85.' A.ls 30% more efficient than B. How much time
will they, working together, take to complete &

aren 39 % # 23 feA
) 15%F | ‘ job which A alone could have donein 23 4838
@ 1ufa | | (1) 15days |
@3 13f3 ' - (2) 11days
@ 20> fA - dan
17 - .
' : 4) 20=
5) e 7€ 31 =TEd 17 davs
Rt R SEE
MARA/D2/Page 18 s AR (8) Not atte
/ @& & fim mpted /
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R

tion Import" Error

1) 9 By
q
3" | % 8 Wheﬂ s the
1 3 i ubscript i
(2) w9 ‘I\é L1 ra,sed ¥ on the index or s iptin a
nll S A e 3 & a 1P ,-m;eis out Of FRESS
A ‘Tg ﬁ | [ Sequen when the requested module

ﬁ is fais'e found-
WA @ 2 onis™” '

de hen the end of file condition is
reading any "data by

It is without

| S g 4
r

TR
(6) S| cout -
o Ty input’”  en a local or global variable
g ¥ y It is raise fined
87, Frerfifem & 4 535 | @ peisnot 4
55 - -H1 T At amdt H IR ﬂ @ Not attempted
() = N amg | » il o the following is not an example of
. ; v 87. s 9
s (2) ET:‘E &= EEE] (@ét::ﬁ) ‘ , . | seéondafy memory *
@) - @H. I : ) Read only meWOTY
(4) it Fé | (2) Hard Disk Drive (HDD)
" , ROM
(6) W - : @ o
T T e © (4 Memory Card

(5) Not attempted

88. mﬁﬁaﬁwmmmﬂﬁaﬁzﬁm’

of the following is not a Database

CERAAE A S . e oihich
(1) TTEhrETR TERd . . Management System (DBMS) ?
(2) WESQL S : (1) ' Microsoft Excel
@) afwa | - @ MysQL
(4) WHDB ' ; R | (3) Oracle
5. el S ’ | i : (4) MongoDB
- - "(5) Not attempted
89. 3IW Acafdn A B A : '
e 3}:_??5737 & Th H4G (89, What is the name of the Networkiné Topology'
) e : : where each communicating device is connected to
_ . a central node ? : ’
(2) @ A e (1) Star Topology
(3) for s | (2) Bus Topology .
(4) B Arre . ' » 3) - Ring Topology
) S S :;)) Mesh quology'
Not attempted
MARA/D2/Page 19 ; d
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v a95 of the Indian Constitution y;.
. tiC|e 39 Whlch.
g difow |90, Ar i

final (last) Article of the Copg

. ‘ the . Onstitug,
0. wrg 3 1 R 395, el g Fam a:S:es the provision related to which & 1:1:
T2 o 2, frferfega 4 8 ' states * i
AT R g . following *
. ation of New States
BRI £ = P (1) Form .
2 Yy SR 1947 1 (2) Repeal of the Indian Independence A
@ g v o, 2019 ’ (3) Proclamation of Emergency
6) I ¥ = (4) Citizenship Amendment Act, 2019
’ (5) Not attempted
9. ‘wagEn sy H g}
1) v N wres TR » L T 1 | g1, ‘Matdata Junction’ refers to :
H am (1) name of a new railway station to raise voﬁ
@) Regin Tagral & fore fdy aifem awareness.

@) Whew A% @ qwen g ofeRd ¥ fg (2)  special polling booth for Divyang voters.

S Fwy (3) training progranime for officials to handle
‘(_41[ TS R s TR % R fate ' postal ballot.

ST gRY s o R s . 4) radio series produced by Election
(5) I 7@ 2 -, T ‘ Commission of India for voter awareness.

(5) Not attempted

92, o '
FIN TaE 3V TeR s utg qt.aa"‘ruf fa"@'[ﬁ & 92 The study of writings engraved on hard surfaces

AT il Fgq § ~ such as stone or metal is called
(1) ToFae . (1) ijography |

(2) goEa b - (2) . Calligraphy

(3) YueEIT= ) T (3) Epigraphy

(4) wifamfagm : (4) Iconography

(5) I g = : (6) Not attempted

93. ‘Tafa ¥ gy mwmﬁ‘m.ﬂﬂm - |98, ‘A tryst with destiny’, is a famous speech

. ¢ : illustrative of India’s independence made by
‘f;:wa;ﬁ: ;:Ia;ﬁl wfaum ay F ﬁqﬁ’ﬂhﬁ L which of the following members of the .
. . Constituent Assembly of India ?
P s T (1) V.J. Patel
2) 38, A (2) J.L.Nehru
@ dom aEER - (3 B.R. Ambedkar
(4) -wad. g : (4) S.P. Mukherjee
(5) IR A€l A TR (5) Not attempted

MARA/D2/Page 20 T rd & forg vum | spACE FOR ROUGH WORK
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94.

95.

96._ esiug?qﬁ,?qgu .

(5
__© iz
MARAID2/Page 21

s 3 ait § Befetan i 3 AAAR Ty

W2

@ 78 T e 35 o] 1 2 |

®) 5% 1y v e e 0 € 8 |

© " 5 N, | 3@“%
BRI g ) gu fo 1 TR

9 RT3 53 e e 1

(1) %?H(a)

2)  (a)Tw (1)

@) (a)awi(c)

) (b)) (c)

6) I T 3wy

(2) PSS T frgminht fysyor |

b) T PEEE B i o R 5w 2 79 Ao

mm“ﬁgmﬁﬁaﬁamaﬁ.

(© HeEEE T W § R ywwm B R B
WPum g d & wd frwea B v B

1) ¥ (a)

2) (@7 ()

(@) (a7 ()

4)  (b)3i(c)

(6) I T 2w
F $ren fhen aoft § form
e 3 ‘et et o at wdArs e’ s e
™ ?

O T (gea) ()
2 q@m(aﬁa)

@ e ()
© taeie (fafn 1 ) (57%)

94,

95.

96.

Which of the fol]owmg Statemeny ; is/arg Correct

ds?
about compoun
ropertieg
(a) It shows the: ¥ °f the Constityent

substances:
(b) The composition of each ey,

always fixed.

The constituents a0 be sepap, only b
chemical or electrochemicq] Teactiong ¢

Choose the correct option from the codeg given

(c)

below :

(1) Only (a)

2) (a)and (b)

3) (a)and(c)

(4) (b)and (c)

(5) Not attempted

Which of the following statements is/are correct

about the properties of a Colloidal Solution ?

(a) A colloid is a heterogeneous mixture.

(b) The solute particles settle down when
colloids are left undisturbed, hence, colloids
are unstable.

(c) Colloids are big enough to scatter a beam of
light passing through it and make its path
visible.

Choose the correct option from the codes given

below :

(1) Only (a)

| (2)' (a) and (b)

(3) (a)and (c)
(4) (b) and (c)
(6) Not attempted

Which film won the ‘Best Film on Social Issues’
Award in the 68" National Film Awards under.
the feature films category ?

(1) Natyam (Dance) (Telugu)

(2) Mandela (Tamil)

(3) Funeral (Marathi)

(4) Taledanda (Beheading a Life) (Kannada)

(6) Not attempted
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A (97, DemoBT T STe
" . ' P pt dey
97. SRiHER TR, T ford Z prank  Notestein in 1945, deqcﬁ:’:ed by
1945 7 fese o e, A relationshiP between economic developme te
¥ gavl &) saven ww ¢ o sissiei® nt ang
(1) FRimfe e (1) Cartographic boundaries
(2) wmf Y T (2) Social crime rate
@) g @ () Death and Birth rate
(4) Loss of lives in epidemicg
(@) wemh & e A ER
(5) Not attempted
(5) I A& M W
98. ‘ 7 gﬁmmﬁ“ﬁiﬂﬂ%? 9 ‘a is a bronze scul i ;
T T 51§ Fe0e ) F 8. Nataraja i pture in a dancing
1) & position associated with
(1) Nandi
(2) F=
Ny (2) Krishna
(3)
(3) Shiva
0, v (4) Kali
) T T (5) Not attempted
99. M ¥ el & § freften 3 ¥ A T g e
SR e £ : 99. Which of the following industries has the
t ' maximum concentration in the . Chhotanagpur
b SELL Plateau region ?
(2) <t 3Em (1) Automobile Industry
(3) el 3 FEmE @ (2) Sugar Industry
(4) & I@m (3) Iron and Steel Industry
(5) I ALl &A1 A (4) Fertilizer Industry
(5) Not attempted
1m.mmﬁnﬁmﬁéﬁawqu&m ;
g1 a1 Sl 27 i, 100. Which among the following will not be ordinarily
(1) wguEa AR o considered an outcome of globalization ?
@) qrIeain 1) Multilateral trade agreements
3 (2) Outsouréing
B e o (8) Tariff barriers
@7 (4) Foreign Direct Investment
: (5) I 7 & i (6) Not attempted
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